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- GCF Practice

Gut out four of the problems below to factor. Once factored, glue them into your notebook under the
heading "Greatest Common Eactor.”

Algebra 2 - Unit 5 Rational Functions
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Algebra 2 ~ Unit 6 Rational Functions

Difference of Two Squares, Two Cubes or Sum of Two Cubes
Practice (Station #2) |

Cut out four of the problems below to factor. Once factored, glue them into your notebook under the
heading “Difference of Two Squares.”
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Algelira 2 - Unit § Rational Functions

Factoring Trinomial Practice

Cut out four of the problems below to factor. Once factored glue them into your notebook under the

=

heading “Factoring Trinomials.” " =, v P M €A O
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Algsbra 2 - Unit 5 Rational Functions

Perfect Square Trinomials Practice

Cut out four of the probiems below to factor. Once factored, giue them into your notebook tnder the
heading “Perfect Square Trinomials.”

£ +10x + 25 4x2+1[} x2+1(/:;+36 36x° + 48x + 16
20 K5 10X cax) l:%) X 6) | (B¥)
C )1 2)(‘5_2$]Q,)( 2 et b=t2X 6)(-‘-!‘2:"133)\
X+5 3. 2 -
( 2x+3) (x+6) (6x+4)
9a% + 3 5 Y+ k6 81 + 1
/i.+ 0a+2\ )v 1/1'51;;—;— a+4a ] 12119 +\/;m+4\ : v }Jc+
(32) (3) | (4a) () (fIP) (2 (qj) oy
2Ty = RO 6 —
2:32:5 ?; 2-HaF=BeM 2 \p.2= AP | g, ) 1Ry
(30\:’# 5) 2 - :j )
| (4at?) P2 [ | ()
x2®1 + 25 4x*EN2x + 9 %%~ 12x + 36 36x* — 48x + 16
2 ‘/ /:fr \ b {, \'z. / \
(X) (97 | (20 (37| 6 3 2
6x) )
WY-5i= 10X -0 2¢Xeb= \LX . .
Z 22 13-— 1 )( . ,_ CGX“"“’)
> > (x-6)
(r=5) | (2x73)
9a? — 30a + 25 16a% — 564 + 49 121p% ~ 44p + 4 81y? —18x +1

2
Caa“5>

(Ha-7)

(lp-2)"

(ay-)




Algebra 2 - Unit 6 Rational Funciions

Factoring by grouping (4 or more)

Cut out four of the problems below to factor. Once factored, glue them into your notebook under the
heading “Factoring by grouping.”
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